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Rl 27 12 20 BB
T [t OfidE RO A S HEM ORATE RO AT SR
kR BHofEE AT ST T YRR S D ik BB
BMOTVI VI IRIGHEZ K 5 KD\ Al 2k RE)) -V OBNAREE - kg/ nf
g~ | ROES (/BB AT %
gg TEFNRL L DTS R OVGE i B (AL O A Sl SR BALKRED BEED LR - ke/
o Lﬁ@%é"ﬁﬁ_ 0.30  ke/nt DAF | Bty MED B EEED TR ~ ke
FEOVBREE 2 (RAE 3 D HD 28 B T BEED LR
TR R 4.5 % | i {bik DA77 B N cm
EERE (V) B ERE V= 10.0(%)
BR A58 EE (m)

el =0.85+(1 - 3.000V = 100) =1.21

a2 =1.00=(1-2.000V + 100) =1.25

@3 =1.00+(1-4/3V+ 1000 =121

al, 2. a 30KRKELEE LIAHE LET, a = 1.25

m=qa X SL= 33.8

PUEXY, BEAEEm = 33.8(N/mi) & LET, m = 33.8(N/mf)
Kt A2 R W/C)

W/C =30.6 —( 33.8 + 23.3) X 100 = 53.59 (%) W/C= 53.5(%)
EAALAKE W) UHERE = 171 (kg/nf)
B A RE(C)

C=W = W/C X 100 = 171 =+ 53.5 X 100 = 320 (kg/nt) = 320(kg/nt)

Ve =C —pc= 320+ 3.04 = 105(Q/mt) Ve=  105(Q /nf)
HEM»PSIEFFE (L /nf) LA ERE = 590(Q/nf)
HBACHEEBEM & (6)

Vg = V XZEMRER- 100 = 590 X 59.0 = 100 = 348(L/nf) Vg=  348(Q/nf)

Vgl = Vg X( 70 =( 70+ 30))= 244(Q/nf) Vgl=  244(Q/nf')

Vg2 = Vg — Vgl = 104(R/nf) Vg2=  104(Q /uf)

Gl = Vgl Xpgl = 244 X 2.71 = 661(kg/nf) Gl= 661 (kg/nf)

G2 =Vg2 X pg2= 104 X 2.71 = 282(kg/nt) 62= 282 (kg/nt)
BALKIE A & (S)

Vs =a/))-bEFE-( W + Ve + Vg +Vair)

= 1000 -( 171 + 105 + 348 + 45 )= 331(Q/nt) Vs=  331(Q/nf)

Vsl = Vs X( 50 =( 50+ 50))= 166(LQ/nf) Vsl=  166(LQ/nf)

Vs2 = Vs — Vsl = 165(0Q/nf) Vs2=  165(L /nf)

S1 =Vsl Xpsl = 166 X 2.55 = 423 (kg/nt') S1= 423 (kg/nf)

S2 =Vs2 X ps2 = 165 X 2.65 = 437 (kg/nt') S2= 437 (kg/nf)
BT (s/a)

s/a= Vs—= (Vs+Vg) X100 = 331 =( 331 + 348) X100 = 48.7(%) s/a= 48.7 %)
BEALRFIAIE (Ad)

Adl = C X SR+ 100 = 320 X0.80-+100= 2.56(kg/nf) Adl=  2.56(kg/nt)

mEE (kg nf)
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BTFIQ| IBFaFIG

3200 - | - 171 423 437 - 661 282 - 2.56 - -
AXEAVRHE | 535 % | KEEAME ] - % | M M R ] 48. 7 %




